1/27 Integrality.

SwF & Im(CHy(X \ U) — CHo(X \ U)g).

Hasse-ArfO 00O 0Odim X <2000000
gg1oboogooo

Brauer 000 0GUOOO0OVOGOOOOOODOO[V] :Zini[lndgixi]ﬂ ogooog
induction formula.

Sw(f.F) = fi (SWF —rankF - (—1)%c), (f*Qy/p(log Dx) — Q3 p(log Dy)))

000000000 10000000000

oooooo

A0DDO0O000GOOOOD0ADDOOO
0006#1000000 A, =A/{o(a)—a:ac A 000000

—length A, o#1
ag(o) =
—2oentclo)  o=1
00 (Serre) 0 a0 GOO OO
gogooo
+1 o#1

_ Jag(o)
6lo) = {aG<1>—<|G|—1> o=1

ooooboGooboobovoogo

1
SwV = [€ ZSWG(O') -Tr(o: V) € Z.

oeG

AY=0x,00000SwV =SwF, € CHy(X \U)g=Q

Integrality 0000 A000D0DOOdimA <200 OK.

1ooooog

i)oooo

L/KODODDO00000000 GaloisO000G = Gal(L/K).

G; = Ker(G — Aut(Or/mt). G =Gy, G, =1,G,=P. [/POD00 pO00O0O0ODO
OO0OPOpOO
000000L00000000a=7,0L000000000G — K0~ o(a)
O00D0GCL=KOOODOOOOG;=GND(a,i)0000

f(x)0 a0000000000O0; = Okla]/(f(z)). G={r € K|f(z) =0}
0000000

G'=Gn{zeKlord f(z) > j}0 a0 OO disk).



ii) Herbrand 0 O O

L/KOODO00000000000000; = Oklz]/(f(z)).

hz)=flzx+a)=flr+a)— fla)0OO0O

Herbrand O O O ¢(u) = ordh(n"x)

o0l 00ogooogoooooooooo

2. G*W = @G,,.

ooooooOooo

Newton0OOOO0OD00Og(x) =" bz 00004 00000000000
oo OgtgnDDDDDEQ(i)SordbiDDDDDDDDDDDDDDD

Newton O O O 0O Herbrand 00O 0O 0O 0O OO

on(u) = ming<i<p lp(ruy) = MiNg<i<p £y +u(n —t)

hO NewtonO O OO0 (n,0) 000000 «00000000 [

goddd,ddooguoooon

Newton D OODOOD0O0D00D00g(x)=a"+>", bz" " [[,(z—3) 000 Dords;
O00000000D000000ordb; > ordfBy + ---ordf; OOordfF; < ordf;y, 00O
oo

2. G¢w =@, 0000

NewtonDDDDDDDGiQGZ-HDDDDt:n—ﬂGiDDDDDDDDDDDDD
0o .

O0000u=:i0HerbrandOOOOOOOO0OO0O0O0O0DOOOODOODOODHG,.

Sw(V) = ﬁ S sw(0)(Te(o: V) — dim V)
o£1
= _Zﬁ Z (Tr(o: V) —dimV)
% oc#l,0€G;
— Z ’%‘“ (dim V — dim V).

voooooove =voo. 000000=dmV Y,y G break Yo, 1 D
V¥ =0000000 j.
Hasse-Arf 0 0000 0G0 Abel 000 0G0 jump 0000

KOOOO pO000O Artin-Schreier-Witt O O O Artin-Schreier 0 000 K/pK O
O000000o0o0O0




